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The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A / Rets—s
No. 1{ a—f) carries 1 mark each
Nos. 2-7 carry 2 marks each
Nos. 8-12 carry 4 marks each

© 000

Nos. 13 & 14 carry 6 marks each

PART—B / fets—y
. No. 15( a—f) carries 1 mark each
. Nos. 16-21 carry 2 marks each
. Nos. 22-26 carry 4 marks each

O O O O

. Nos. 27 & 28 carry 6 marks each

Total (PART—A & PART—B) :

/128

1x6= 6
2x6 =12
4x5 =20
6x2 =12

Total = SO

1x6 = 6
- 2x6 =12
4x5 =20
6x2 =12

Total = 50

50+50=100
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(2) | (3)
. PART—A (/) What do you understand by price ceiling? 1
Ret—= , 7R T S Iferca 6 @ 2

( Introductory Microeconomics )

2. What is oppo.rtunity cost? Explain with an example.

1. Answer the following : _ 1+1=2
were e T fim Ao 95 T 2 9Bt SI=aeRTR IR 3R |
(a) State the law of supply. 1 3. Write the law of variable proportion. 2
e R e /RIS Speire R s |
({b) What is break-even point? 1 4. State the law of demand and draw a demand curve.
: 1+1=2
oSS =9 :
R wifzw R &4 o wice g s 331 =isew 941 |

() What is the shape of a perfectly inelastic demand

curve? 1 5. Prove that for a firm, price = average revenue. 2
off SifeRIeR RM @IR SRS (et ? oI A1 (T (A 93 DR T, 71 = 51T = |
(d) What does a point below the production possibility 6. Write the conditions of firm’s equilibrium. 2
curve indicate? 1
AT SIPTTOR TET2H! 74t |

Teoiive BRI (IYN ©ofe afke R qbiR ¥ Aot 03 2

7. How does imposition of per unit tax affect supply curve of

|
(e} What is market economy? 1 ‘ a firm? : 2
TuR S R 2 } 43T T A ARIF QT (AR (AT ARG 4 2
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(4) (5)

Or / &
8. Discuss the characteristics of perfect competitive
market. 4 Discuss the determinants of supply. : 4
o SIS IoRE CIFBPIR S 31 | \ AT RARRFTR, A 4 |
9. With the help of demand and supply curve, explain how 12. Write the differences between monopoly market and
market equilibrium is attained. 4 | monopolistic competitive market. 4
SIfEw S IR (IS RS I SRPITS] WRd ferdn [ 4 | | | oo &R S GREHAE AfScReR IwRT NPTy Fr |
10. Explain the law of diminishing marginal utility. 4 | 13. Explain how a consumer attains equilibrium while
: consuming two commodities. 6
TP 2R Sercariarer REET apram <+ 1 |
B! T TOCOR (FaS OIS GO (I SISTe] S I, WA
Or / 541 91
What is price elasticity of demand? Discuss any one Or / 531
method of calculating price elasticity of demand. 1+3=4
What is an indifference curve? Draw an indifference curve
v 71 Refgrereer [ 0 oikme @ RfSmerre! 9w 991 R @A 96 | and discuss its properties. 1+1+4=6
TRl SC 31 |

s &2 qOF FRCTE QY I I WF WR APEPRR

AN P91 |

11. Define production function. The production function of a '
firm is given as Q = 5VLK, where Q is output, L is labour

employed and K is capital employed. Determine the level of 14. Define average fixed cost (AFC), average variable cost
O, when L =16 and K = 36. 1+3=4 (AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating their interrelation. 3+3=6

Te T P CLIGR] =5JLK,
e ) i | @ b Se ¥ R Q = SVLK 1% B3 I (AFC), 1% R 3w (AVC) S 9% I (AC)T e

TS Q txr SR offw, L tmr it wws ofRwa W K for1 1 AFC, AVC WI® ACY YRR R’ afeshrs aits @3-
tzr Reafers @R =91 L=16 IF K =36 T QF IR T I |

AR 7911
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(6) ( 7))

(c) Write the direct method of calculating arithmetic mean

Or/ 9w -
: in case of discrete variable. 1
Calculate TFC, TVC, AVC, AFC, AC and MC schedule from
the following table : ' 6 Rivza verPa (FES SINTT NG AT 2T RSO 7 |
R Ofe@R™ °’Al TFC, TVC, AVC, AFC, AC SIF MC Pt 5ol (d) Write the full form of NSSO. 1
Al NSSOF F=ofef bt ford |
Amount of Production(Q) | 0 | 1 | 2 | 3 | 4 | 5 | 6 _ | o »
Seormq AT (e} Who is knqu as the father of statistics? 1
Total Cost (TC) 40 |100| 120|130 150|190|250 MR R Preweet T v T 7
P . .
() Write one difference between diagrammatic
presentation and graphical presentation of data. 1
PART—B S oA Sorgrem Wi eRvAR SorRIoMT e @b onefey B |

Re—

( Statistics for Economics )  16. Calculate range and range coefficient from the following

data : 1+1=2

©od SRR 21 oPTR I 2PTR BT ST 41

15. Answer the following : -
12, 15, 18, 21, 24, 27

@oTS TRy Ty i -
17. Write two differences between discrete variable and
(@) Who forwarded the welfare definition of economics? 1 continuous variable. 2
SR R K (R SRR 2 RivzA o1 S SRften 5o19 W& KB1 ol B o
18. What do you understand by relative measures of
(b) Write one limitation of statistics. 1 dispersion? ‘ 2
TR e b1 MvRwe! fr | R e 19 gfeee & @2

/128 | /128 | [ Contd.



( 8)

19. Write two differences between histogram and bar
diagram. |

R e we Bag 7o1 <nef B o

20. Write two limitations of ‘direct personal investigation’
method of data collection. '

T TRAI “AOPF TSNS PR Taed [ol TR B4 |

21. Write two features of statistics.

iR R 51 ey e |

22. Briefly write about the methods of classification of data.
B AR TR Reca syiF Bl |
Or / Sd1

Write the objectives of tabulation of data.

S SRR SR ol |

23. The marks obtained by 9 students of a class are given
below. Calculate mean deviation :

<Ol A 9 T Rag WO T VI e wore Al (R | NG oW
51T 91

22, 65, 40, 50, 38, 20, 70, 25, 75

/128

4

24.

25.

(9)

'Or / |e[1

Write a note on Lorenz curve. 4

Taq T R <1 B B |

Calculate Karl Pearson’s correlation coefficient from the
following data : 4

o] OUR “R1 T FPIoae ST=oEm QLT SO 991

X | 6 8 |12 15| 18 [ 20 | 24 38 | 31

Y |10 12| 15|15 |18 [ 25|22 | 26 | 28

Or / 91

What is rank correlation? Briefly outline its demerits.

1+3=4
ST TOTTR [ 2 TR SpRePgR FRewee! o
Calculate mode from the following frequency
distribution : ' 4

O] IO RO™mI 21 IZ6F A9 9T ¢

X} 0-10 {10-20|20-30|30-40(40-5050-60 60-70{70-80

fl 4 | 12| 18| 25 | 16| o 7 3
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26.

27.

28,

(10 )

Or / 941
What is median? Discuss its merits.

T4 R 2 TR JRYPTE SED 41 |

Write the characteristics of an ideal average.

BT ST 1% CAPIBRTR o |

Write short notes on :

59 (I fora

(a) Wholesale price index
PR 7 PIRF

(b) Consumer price index

TSR TIPS

Or / 9«1

1+3=4

3+3=6

Discuss the use of index number in the study of

economics.

SRR HYES ST IR I A 4 |

Discuss the characteristics of a good questionnaire.

9N ST el CAFBPTIR SICEIS 3 |

/128

6

(11)

Or / 91

| Draw a histogram and a frequency polygon from the

| following data : 4+2=6
|
| | @o B[ °[1 b1 R A WF Qb1 IRIRS] IPH WA [

Marks Obtained |10-20 |20-30|30-40|40-50|50-60 |60-70

NG T -

No. of Students 5 12 | 15 22 19 4

QI R

* % %
|
|
/128 22

| o




